ke
(2

=

©

B)

B)

©

B
B

D)

B)

B)

©

B

©

D)

Iy
7

L)

(98
ﬁ;f%;fﬁ{;ﬁ%??;:& B~ R FESHBRBRAR ~ Rfud |4 EER

W 3i%§‘$ﬁ3@
WoLER R LA
Pr2zrpdrer (Y FARMEZE 28580 87)
1 g2 i % 10EF 102 R PALSY RELR?
AR 5T B A B SR (C)E&]%é;f? gy Ok gy
2. RFERT LHER O RARTSFL G E L AR
A FiE T2 (B)u/zu T2
Oz &t 22 D)./ 7 FTAp] T 2
3.AWﬁfﬁ*4%Bﬂﬁ?~%ﬁ’ﬂ”Tﬂ”—ﬁ FRL?
WA AR RIN D R 5 AT p 4 T
®§¢wa,4%%ﬁéﬁﬁ?%% = E R BRSNS e R 0 2 R
#1
(C)/\g\ﬂ‘f”fﬁ‘f S IE-P-EL A @R ER 2
(D)ﬁ/é“rk /‘%iléﬁ‘ﬂ*g‘f q—- /é’é‘f—'i;&%‘ iﬁzéf_#%fﬁ?fﬁ
4. ﬁ/é@ﬁi},@;f%ﬂ% F{—T.‘L"_,ﬂ W% iz P e p‘l”ﬁ %éiﬂ,&#‘g‘g ’ éfcﬁ },’tﬁglj e BT 2
B EEgrdER2 547
A- B B= i ” (GES:2 D)- #
5. L A LR FRAE SR RENFREL
AE % Bz % (OFcizdid ()EREYES
6. " FARRANI P ERBRAY » JEFERE
A)# % 18 B % 20 & C)&m16 & D) % 23 f
7. TA G MAYRRE I p d 2 gk f”ﬁ%’éi—?
(AERF2 TG4 B A FREITHE L i
(B)\L'p/zLFleadl E;Zi%’#f{x /*Tﬂ'v 131 s B AR tﬂ“‘«k-‘i,’:%’:‘
Oz R TR ERITE A 23R EEF - A '1)”: T
DEMNFRE ZERZRIHRBZF ZLALPEIRFEINE RS
8 HFHIEAT AN~ AR FIR?
At i 25 BL %25 O % 2425 D)} 7425
9. M ARMEREH 2 232 BRFHBHERLTL T gt H LA ?
A wAp Rk s R E&RETE S B
B &£&EZ R wAR R G B
O P51 & TR T
DR FEEFEANERFL > 24k
00, 35ch 2 @R 5 A D0 b R Ao IR AR LR o - R
BERORBRAG 7 BE?
AF i =R BT % R A OZ &R 1 D)F4% R B
7705 MR REs 2 R o R A 2 it > P A Y
A RF A2 EFFR B)i A % Bk
OF il 2 &T F 7 Tk DT A FFFk
12 F¢fps T BESRRF A NI > RS EeA 0 A& REF 2 VAEENL K
i ?
INER:S B 2 1 QRN D)z A 2 ~ 1§
R e SRS e S N NCTIES A = x’?dﬁb’“ra‘%:" ?
A+ X % BE X =~ ¢ Oz DE %
U FrRBEE hiE bR E
ABSRF L S EF R IR BASAK - TIREFLE R

£H5F %1F > BB % 2 B ek http://www. public. com. tw




SR B (98 EHE )
OfF ek B & o D)7 Fefefef iz &
© 15 M AR 2 pfdkir o T gt R LA ?
W*TF Mz F 0 3 Fd 2 EP R 0 P FREARA L T2
B#F w] 2 ez ficje > * R AEFfRE TR Z IR
OFAfh FIEF 2§ £ A03T 0 3 B3Rz Th P FIN
D¢ A BB FISM AL LEY s d » B8 HPRF
D) 16 el 3t FFHF SR EF2AF CFE &Y o il T HAREBE TSN
gwﬁﬁg,gééahﬁﬁ%néégTﬂmﬁ?
ARF LT RAF
B) {75 b ) %
OfF st Y 2% ~ JFFF ~ (7 FCAR
D) {7 5t i ¥ s
O 17 B A 5 - Bdpdtr - B L UFZ@%P r4ir 5 - B B % - Bk ot
4 heim?
A)»cd AT BI#R & FTw @7 = D) & 7%
B 18 FFZ g F A LR

O3i F i+ B iRgE A D% = A & img <

D) 19 7 7P K 2B F T A D
A¥ T2 E 7 B)F TR L o
) fr 1 e 1 D% it 2 BG4
IR S HES SRR AN TR TS iR I S
NEER R D ¥ e W
Of B2 B2k 2§ D)ifdf 2 A%l 5
B) 2L F MAES ~ 2 gt > T AP S AE?
Wﬁ;@ﬁﬂ&%%@ﬁ%&@?@i%%$@ﬁ
BFE FIES 24 2 > P e i1 84 FenI Andldes g B
O AR A A 2 F RIEE L 202 4 MR 7 5B B ] T % g
O =R EAL AR - LB EAT LA
D) 2 7 7kt oK B FE?
W7 5 2 ] 17 5 PF2 it B RMSERE o WA Y AT 0 AR
B 75 pE Ly " FEEaEE e | o RUBETR T
O 2 42 2 7 2] BRI A1 F IS~ oo
D) B2 AEEEE D > &A= o FAE 7 Al ELFE - 71T hiFm 5wl 2
L%
B 23 FrfliFiE ¥ 3 FRLL AR AR L 22 0 W ESRE P LR
B o 4t T A|ZR— 38 B B chF LY
(Wi% &7 Al By b1 1
O 72 2R D& p ol kRl
B 2 %Pl 5 65 B T REFRLR §A R Arch 2 ns KA
SOt I E R F MR A2 0 BC R ART S B B)7
Wit =% BB BfE <~ = R
Ok i 7 Fe R B D)+ % R R

-

W

CHE%§ﬁﬁ9@%§ﬁbﬁ%ﬂ%%ﬁi%ﬁ?ﬁ’6E%@ﬁikﬁfﬁ&@ﬂéﬂﬁm

Ha5F #- m}}%,,qf, YImE s T BT 4}5 ,';:znj:jF,"-?

AT B X2 BEERR DR BT

B == BEEDRRP R DFREDT ) > o 32 BIREERRT L AF P
OF *2MFEFARBIRReL o> ¢ 22 BIFEERRG S J°

S+

5F % 2F > BB % 2 B ek http://www. public. com. tw




3R EEAE (98 Y)
D 7 &= %> o328 EERFAR T P
D) 26 FARRAEBERNEDF F 0 AYD
(Nﬁﬂ%é%ﬁf;ﬁ’éiJMZ;mlﬂuiéﬁﬂﬂ
B 72 de B> 24 1A A KALG R
@&w;@ﬁﬁﬁﬁﬁ,zaﬁﬁiw
D)o #F & & S JE BB iR > A (B YRSk N Apdaag
A 27 RipFiEHBiE2 2R > pr- B FERIPRAMENZ 2L F > G ER2Z
)
Aiegch 2 H L5 R
Bt FR A FRLEE L0 6 AR
Od BARTRANERKEER
Dd v FXF “H/LELBARNET T /KL
D) 8 AREE? AP RT . REIERAZTER DB AAEE S

(A) $-re g B T4 Ot Epd DFAEF
OZQ@%%*MEE’TNﬁWFﬁ%§9
Wiﬁﬁ‘m(“)éﬂ@ﬂ“)wﬁﬁﬁmiﬁ R P RGER B T s
A
B A e G > 22 WML S T LM e o Fpisiknl
OpipizHd > Fredhiz o ITFFLT éi ﬁﬁm%#
®Bmww%¢@ﬁupw%%é$@@1%ﬁ
W30§¢m$@v%g,ﬁ%wm@dfwaﬁgggi?
AP 2R~ 2F BE iz
OR=x = ¢ D)z =
© 3L in Taipei i1s becoming much more convenient with the newly built Mass
Rapid Transit.
(A) Passenger B) Treffic
©) Transportation (D) Vehicle
(B 32 Native Americans have a cultural that extends back over 1,000 years.
(A) average (B) heritage ©) exchange (D) visage

(A) 33 Do not expect John to apple for a visa. Too much paperwork can overload him.
(A) John might not be able to get a visa because he does not like to fill out
many forms.
B) John fails to get the visa because he forgets to bring the papers with him.
©) John does not expect to have a good job because it is quite demanding.
(D) John is overwhelmed with the questions asked by the custons officer.

©) 34 Microsoft’ s Windows are the computer software that I am most familiar
with.
(A) bandages (B) barrages ©) packages (D) personages

D 3. If a professor uses others’ essays without documentation, he will be accused
of and expelled out of the academic community.
(A) burglary B) counterfit () ghostwriting D) plagiarism

D) 36. In his childhood, his family lived in an inner city where parents were
by bad housing and shortage of money.
(A) anticipated @B) backfired €) committed (D) depressed

(B) 37 By learning to express , to show thankfulness to people, people can
become more satisfied with their daily lives.
(A hostility (B) gratitude © intimacy (D) fantasy

(D) 38 Jenny is very kind to next-door neighbor, her meigbbor is ont easy to
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get along with.

(A) besides (B) except ©) even (D) even though
39. I" 11 go to the library later today, if I the time.
(A) have (B) had ©) am having DO)will have
40. Fat people must be careful because obesity is on its way to smoking as
the number one killer in many countries.
(A) progressing (B)regressing () transacting (D) surpassing
41. 1ts cost, the office ladies still dream of owning a designer bag.
(A) Except (B) Despite ©) Even 1if D) Owing to
42 For many people, there seemed to be no escape from poverty.

(A) It seemed that many people could not change their impoverished condition.
(B) Many people found little difficulty in getting fid of poverty.

(©) Many people were poor, and they found ne way to get away from the rich.

D) It seemed that many people found no way to help those poor people.

Someone in Hollywood should soap up the movie rights to the backstory of
Falcarius utahensis, the 125 million-year-eld dinosaur with 10-cm claws and
spoon-shaped molars 43 last week:"Scientists say it offers the first
glimpse into how dinos made the 44 from small, agile meat eaters to
elephant-size vegetarians. Falcarius, as it turns out, was dug up by a black-
market fossil collector named Lawrence Walker, who found it on US government land
in Utah while digging at night undér a tarpaulin. Convinced he was onto something
big, the poacher tipped 45 a paleontologist he knew, James Kirkland, and
led him to the site. Kirkland tried to protect his source but, asked under oath
how the dinosaur was discovered, reluctantly 46 Walker in. Kirkland got his
15 minutes of fame last week. Walker served five months in prison.

43 (A concealed (B) unveiled ©.restored D) explored
44. (A) movement B) flowing ©) transition’ (D) gap

4. (A off (B) over © up D) into

46. (A) handed B) told © took D) turned

As little as thirty years ago, few people questioned the gender roles that
had prevailed for centuries. Therconventional wisdom was that a woman s place
was in the home and that a man’ s main responsibility to his family was to put
food on the table. In the 1970s and 1980s, however, greater numbers of working
women meant that men were no longer the sole breadwinners. A father’ s emotional
involvement with his family also became more important. Forty years ago, almost
no husbands were present in the.delivery room when their wives gave birth. Today,
1t 1s generally expected for male partners to attend childbirth classes, to be
there for the delivery, and to take more responsibility for child rearing than
their fathers or grandfathers did.

In addition to society’ s changing views of the role men play in relation to
childcare, social scientists also found that the presence of the father in the
home can contribute to lower juvenile crime rates, a decrease in child poverty,
and lower rates of teenage pregnancy Differences in parenting styles between men
and women are also belived to contribute to children’ s ability to understand and
commnunicate emotions in different ways. The research supports the claim that the
absence of a father in the family is the single biggest problem in modern
society.

47. Forty years ago, a father usually
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(A won bread for his family (B) attended childbirth classes
©) educatd his children D) stayed at home
B 48 The father’ s presence at home does NOT contribute to
(A) lower juvenile crime rates (B)more serious family violence
©) a decrease in child poverty (O)children’ s better development
©) 49. Children under the care of both parents develop good ability to communicate
emotions because .
(A) there are more conflicts in the family
(B) there are two breadwinners in the family
©) there are two parentiong styles in the fanily
(D) there are fathers and grandfathers in the family
B 50. The author would agree that
(A) the 1ncreased number of working women brings about serious probliems in
childcare
(B) contemporary men take more responsibility for childcare than their fathers
© a father’ s emotional involvement with his family is not as important as

amother’ s
(D) a mother’ s emotional involvement with her family is not as important as a
father’ s
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